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1. Introduction

On RAN1#52 in Sorrento a conclusion on the Resource allocation type 1 (approach2 and header design) was found. In the following the allocation signalling shall be further detailed. It was noted
· Resource allocation header for allocation type 1
· One bit to indicate whether type 0 or 1

· If type 1, indicate with 1+ ceil(log2(#subsets)) bits:

· one bit to indicate a right-shift of the bitmap and

· ceil(log2(#subsets)) bits to indicate the subset index

· resource allocation bitwidth = ceil(N/P) - (1+ ceil(log2(#subsets)))

· N=number of RB, P= number of subsets

2. Details of allocation Signalling in non-compact Assignment
For the definition of the resource block groups (RBG) The resource block group size P is given by the System Bandwidth 
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The number of subsets is given also by P

The number of bits for type 0 bitmap is x. It is 
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The number of bits for type 1 signalling of subset and RB selection is also x
From the x bits ceil (log2(P)) bits are taken away for the header selecting the subset. Further one bit is taken away for the right/left shift information. So the number of bits y that are available for RB allocation inside a subset is given by 
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The subsets that are generated by subsampling on RBG-level consist of different number of RBGs (whole or partially filled RBGs see picture below) and thus the subsets consist of different number of RBs. Subsets are denoted 
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Location of starting position for the first RB is given by 
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The size of the subsets in number of RBs  is given by 
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This value can be calculated by a formula.
The shift value in number of RBs inside one subset, that can be derived from the above is then given by  
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In the Figure below this shift value for 
[image: image8.wmf]0

S

 is 4 the shift value for 
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 is 3 and the shift value for 
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 is then 1.
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